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Instruetions;
o Wrele legibly
i, Seienbhic and non-programmable caleulalors are permiited
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(50 x 2 M= 10 Marks)
Whal 1s called PCLY and pive PO values for bicyele, car, larpe bullock carl and bus?
What do you meani by Thirtieth highest hooly volume?
Explain time and space headway.
What is called {ost time in sipnal design®?
List the types of conflicts and what is number of confiicts for the following catepory of cross reads.
i) both two-Jane and two way traffie, i) two fang and {our lane with two way teaflic in both,
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Part 3
{2 (x5 M= 10 Marks)

0. 1n Indira nagar there is a cross roads (road A and B} which creales traffic congestion, Design two
phase sigual systemn by adopting Webster’s method (o reduce ivaffic conpesiion at the intersection,
Averape normal tallic in road A and road B is having 450 and 200 pow/hr and saturadion {low trailic
flow for these roads are 1400 and 800 peu/hr. The ali-red time required for pedestrian crossing is 12
SECS,

7. Lxplain briefly traffic sipns wilh diagram of at least three signs in cach categories.

ant

ari ©
(1 Qx 103 M= 10 Marks)

8. Expluin buiefly

i3 Crmigin and destination studics.
i) Speed studies.
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Parli A
(30 x 2 M= 10 Murks)
Wikl is maximum and minimum seperclevation as per IRCY?
What are the categories allowed in gradients?
Name the various lests which is (0 be done with stone agpregate.
What do you meant by off tracking?
Deline curve resistance.

Part B
{2 QxS M= 10 Marks)

A vertical sunymit curve is formed at the interscction of two gradients, T in 25 (ascending) and 1 in
23{descending}. Desipn the lenpth of summnil curve to provide a 85D and I1SD Tor » desipn speed of
80kmph. Assume any other data as per IRC.

How do we delermine toughness of sione apgrepate? Explain briefly,

Part C
{1 Q% 10 M= 10 Marks)

. While aligning a highway in buill up area il was necessary 1o provide a horizontal cireular curve of

radius 325 meter, Design the following geometric featurcs. Desipn speed = O3Kmph, Pavement
widlth = 10,5 m

a) Supereievation (final rise of outer edpe with respest do inner edge)
b) Extra widening of pavement

¢y Lenglh of transition curve
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Enstructions:
b Wrile legibly
1L Scientiic and non-programmaiie caleulators are permitled
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Pari A

Wame the effects eaused by inywoper alignment,
Write short note on skidding and slipping,

Classify the urban roads.

Prefine building lne,

Write shorl note on shouiders of the roads.

Expand the following abbrevialions.

PP MORTH, 11} CRRI, iy CRI, vy PIEY

St R —

Part B

Y. Describe briefly about st 20-years road development plan.

(6 Q%2 M=12 Marks)

{2 x5 M= 10 Marks}

5. Find minimum gight distance 10 avoid head-on colligion of two cars approaching in opposiic
direction al cgual speed of 90 kmph. The road is having unilorm pradient of 4 in 100 throughowt its

Part C

length, Assume remaining paramelers as per IRC recommendations.

(1 QO x 8 M= 8 Marks)

9, The speed of overtgking vehicles is 96 kmph. On a one way traffic road, 1f the acceleration of
averlaking vehicle is 2.5 kmph/sec, Assunie remaining parameters as per IRC recommendations.
Caleulate the safe overaking sigit distance (OS50} and Skeichi the overlaking 2one.
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